AN 1IT/IIM ALUMNI COMPANY

E CAREER POWER

Q1.
In a triangle ABC, ZABC = 75° and 2ACB = %C.
The circular measure of ZBAC is

n.C

ﬁiﬁ:]ﬁf ABC ﬁ, 2ABC = 75° 3R 2ACB =—
£BAC 997 AT F1 §7?

Sm .

— radian
(@ 12

T radian
(b) 3

(3 &
—radian
(c) &

9 =
— radian

(d) 2

Q2.
The degree measure of 1 radian (taking m = ?) is

133w & e A9 Fr 2 (F9 ==

(a) 57°61'22" (approx.)
(b) 57°16'22" (approx.)
(c) 57° [22] ~ 16" (approx.)
(d) 57°32'16" (approx..)

Q3.
Iftan 15° =2 - /3,
the value of tan 15° cot 75° + tan 75° cot 15°is

afe tan 15°=2 -3, RRB NTPC STAGE-I
H\f tan 15° cot 75° + tan 75° cot 15° &1 AT Ald a’_l— 25 Previous Year Papers
(a) 14

(b) 12

(c) 10 Online Test Series
(d)8
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Q4.

2cosB tan®
—— = ¥, then the value of
1+sinB+cosb 1+secB

2cosH ) a;r tan® FT AT AT a'ﬂ-

1+sinB+cos® 1+secB

is

X

(@)
(b) 1—+x

© Vx
«d) 1-x

Q5.
If sin® +sin26=1,

then the value of cos!20 + 3cos!%9 + 3c0s80 + cos®0 - 1 is

gfe sin® +sin20 =1,

ar cos!20 + 3cos!%0 + 3cos8O + cos%0 — 1 T AT AT P
@?o0
(b)1
()1
(d)2

Q6.

cos (x— %’t) + sin (37“ + x) + sin(32m + x) - 18 cos(19m - x) + cos(56m + x) -9 sin(x +
17m) = bsinx +acosx.finda+b=?

cos (x— -3—;) + sin (371‘ + x) + sin(32m + x) - 18 cos(19m - x) + cos(56m + x) -9 sin(x +
17m) = bsinx + acosx. @ a+b=? FTd N

(a) 17

(b) 27

(c)13

(d) 23

Q7.
. cos? A(sinA+cosA sin? A(sinA—cosA
Find the value of[ ( - ) ( - )
cosec?A(sinA—cosA)  sec? A(sinA+cosA)

cos? A(sinA+cosA) sin? A(sinA-cosA)] 2 2
sec? A — cosec?A) & AT ATd I
[coseczA(sinA—cosA) sec? A(sinA+cosA) ( )

@1
(b)3
(©2
(d)4

(sec? A — cosec?A)
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Q8.
Value of (sin2 7 1? + sin? 82 1; + tan? 2.tan? 88°) is

(sin2 71{ + sin? 82 1? + tan? 2.tan? 88°) FT AT AT L

(@1
(b) 2
(©0
(d)4

Q9. The angles of elevation of the top of a building from the top and bottom of a tree are x and y
respectively. If the height of the tree is h metre, then, in metre, the one-third of height of the
building is

T O ¥ ofief ofiX 72 & T TR F STAT FI7 FAL: x 3T y F1 T 92 it F=1E h fiex g, O Hiex & g7
%t 1= g Sars fha &)

hcotx

(@) 3(cotx+coty)
3hcoty
(b) cotx+coty
h cotx

(©) 3(cotx—coty)
3.cotx
(d) cotx+coty

Q10.
The minimum value of sin® 6 + cos* 0 is

sin? 0 + cos* § & =geTdH Al fhdar 872

=
(2) V2
3
(b) 5
3
(c) 4
£
(d) 3 RRB NTPC 2019
Q11.Aman rows upstream 11 km and downstream 26 km taking pR'M E pACKAGE
5 hours each time. The velocity of the current is.
T aredT 11 faret eamer & s sii 26 freft &< & stqaer e w=rar LB
g 3T TS AL 5 5 T 9 a7 §. YT FT 397 4T 872 40 Full Length Mocks
(a) 3.5 km/h 30 Section Wise Tests
EE)) 123 ::nn;rr]‘ 10 Previous Years papers
(d) 5 km/h 20 +Topic Wise tests

eBooks
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Q12. A man can row at 8 km/hr in still water. If the river is running at 4 km/hr, it takes him 5
hours to row to a place and come back. How far is the place?

T ST oo Ot # 8 Tafy / wiet &y it & ey =<t wavaT 81 If= T 4 fRfiser fr i A ag Wrg, ars«
RE FT TF T I A S q799 1 |/ 5 60 T 07T OQ ¢, I8 S hasit g 82

(&) 15 km

(b) 14 km

(c) 16km

(d) 17 km

Q13. A man can row at 6 km/hr in still water. If the river is running at 2 km/hr, it takes 8 hours
more in upstream than to go downstream for the same distance. How far is the place?

TF A R T 6 iy /ser i a A aar aear g1 IR A 2 AT i g ag @ g, v
AT T TF LT & TFAHe ST R’ IR F SATHA ST 6l JAT § 8 = A8 a97q §. a8 T Fhasit gL 82
(@) 85 km

(b) 64 km

(c) 54 km

(d) None of these/ TaH & FIs Ag!

Q14. Aman can row 6 km/hr in still water. It takes him twice as long to row up as to row down the
river. Find the rate of the stream.

T =afh Rux o 7 6 fh.ft.faer & wift & a1 <=7 aohar 8. S9! 9T % Wiawe S |/ &1 & Aqhd S
T AT | TRAT GHT AT §. TR 6T T 7 Ao,

(&) 2 km/hr

(b) 3km/hr

(c) 1km/hr

(d) 1.5km/hr

Q15. Manish can row at a speed of 4.5 km/hr in still water and rows to a certain upstream point
and back to the starting point in a river which flows at 1.5 km/hr. Find his average speed for total
journey.

Ay Rux st 7 4.5 f.H 1. /5 wfa & a1 =<t g6t § d@x 1.5 Gdfiyser & wfa f 78 7 v [fsam [y
TH 19 TATAT § 3T ATwF &g 9= 199 arar §. Saht T ITAT it

e i ST A, e
() 3km/hr
(b) 2 km/hr A COMPREHENSIVE
(¢) S km/hr GUIDE FOR
(d) 4 km/hr
RRB NTPC STAGE-1& 2
Q16. If a man rows 4 km downstream in 3 hours and 2 km (English Medium)
upstream in 2 hours, then how long will he take to cover 8 km in 5
stationary (still) water? 4500+ 9 Fui-Length
Ife THh =<k g7 F SRESU 35T H 4 At siw 2 "2 w 2fFHfr Hir {ﬂ' Questions P;aoitll‘ze
IT FLAT g, T 39 foor o« # 8fr Y. ff o a7 v § T www | .. 900+ ‘!»-“
Fl'ﬁ'*Tl"’ 5 OQE\Z;TS":;::Q : t;‘e(allﬂo:n [
5h oo for,éa;‘a& Evs  ngy
o
‘ears'
(c) 8 hours Papers A
(d) none of these/zaH & #I$ Tl iz
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Q17. The speed of a boat in still water is 30 km/hr and the rate of current is 12 km/hr. The
distance traveled upstream in 20 minutes is

oo 51«1 # AT it iy 30 ot /feieT § oie ey #Y e 12 3. #1./5ie1 8. a7 20 fAme & o< & afade ao i
TE T et &2

() 6 km

(b) 5 km

() 9km

(d) 8 km

Q18. Sandeep can row a certain distance downstream in 5 hours and return the same distance in 7
hours. If the stream flows at the rate of 2 km per hour. Find the speed of Sandeep in still water.
TR &1 % AT U A 30 g 5 6 & qF X Gl g i< 7 5 § A1 T q199 o 9T & TR e iy
e 2 f6.Hi/eer g, a foor ster # wdtg Y i stra i,

(@) 14 km/h

(b) 15 km/h

(¢) 13km/h

(d) 12 km/h

Q19. The rate of flow of river water is 4 km/hr. A boat goes 6 km and back to the starting point in
2 hours. Find the speed of the boat in still water.

T T T it T 4 L AT/EET 8. TE A 2 5 | 6 TR AT St € S} e g u) are ot €. R s |
CIEEIRIG G IS e

(@) 6 km/hr

(b) 8 km/hr

(¢) 9 km/hr

(d) 10 km/hr

Q20. A man can row 30 km upstream and 44 km downstream in 10 hrs. Also, he can row 40 km
upstream and 55 km downstream in 13 hrs. Find the rate of the current(v) and the speed of the
man(u) in still water.

T ARE 10 5 | &1=T & Fiager 30 .47 3% 9T & srqaer 44 .47 7% 79 qa1 ghaT 3. i ag 13|
T & Tfader 40 T sii &=y & sqger 55 . a& ama =«r a@ar &, gy #i¥ 1 (v) 3% xR s °

=i it i s Fivrr (u).
(@u=5v=4
(b)u=6,v=5
(c)u=8,v=3
(d) None of these/ T#% & #IS gl
addaz47
& & testseries

Q21.A bus left 60 minutes later than the scheduled time but in
order to reach its destination 48 km away in time, it had to
increase the speed by 4 km/hr from the usual speed. What is
usual speed (in km/hr) of the bus?

T 99 fReaiRa 997 & 60 fAee 912 @mT g2 afa aag 7 48 it @
A AT qF UG F (T SH AT TS & 4 Fowefy / wier ot i srgrer

SSC MTS 2019
PAPER -I

T T8 B qraT Th (R #) R £ Based on TCS Pattern
(@) 9

(b) 12 15 Full Length Mocks
(c) 15

(d)8 .
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Q22.A bike consumes 20 ml of petrol per kilometer, if it is driven at a speed in the range of 25-50
km/hr and consumes 40 ml of petrol per kilometer at any other speed. How much petrol(in
leters) is consumed by the bike in travelling a distance of 50 km, if the bike is driven at a speed of
40 km/hr for first 10 km, at a speed of 60 km/hr for the next 30 km and at a speed of 30 km/hr for
the last 10 km ?

T qTEF T franfiex 20 faefiefiet i FT ITWRT Fdt § af2 gréax & 25-50 ffi/ser i 7f & semar
g 3% foret oft s e o= g wia fahetfiex 40 fA=ficlie 92 1 ST HXdT 81 a7 915 31T 50 T fit
ITET F H ThaeT Ui (FAeX) FT STHRT F4M, IR Iga 10 Rt F forw 40 Fet / st & fa & s=mar, av
ster 30 Ty % forw 60 famfi/sieT &t wifa & i sifdwr 10 fft & fer 30 fadi/ser &t wift & w=mar §2
(@1lL

(b)y1.2L

(c)14L

(d1ie6L

Q23. The ratio of the speed of P, Qand Ris 10 : 12 : 15 respectively. What is the ratio of the time
taken by P, Q and R respectively to cover the same distance?

P, Q 3T R T i T erquTa #7er: 10: 12: 15 8. 9919 g aF F¥ % forw swwer: P, Q 3w R g1 forw 1w &y
T AT T 872

(d)10:12:15

(b)15:12:10

(©)6:5:4

(d)4:5:6

Q24. A bus travels 720 km in 20 hours. Calculate its average speed in meters/second.
TF 99 20 =5 7 720 fHet Fit I a7 F7dt g, {iey e § ST S{ad i 19 Hi
(a) 12
(b) 15
(c) 18
(d) 10
A adda

publications

Q25. The train A left Delhi at noon sharp. Four hours later,
another train B started from Delhi in the same direction. The
train B overtook the train A at 10 p.m. Find the average speed of

the both trains over this journey if the sum of their speed is 80 GUIDE FOR
km/h. RRB NTPC STAGE-1& 2

Useful for Clerk | Level-1| Ministerial & isolated Categories and Other Exams

TF 37 A $F A9eL A ool & Fraredt &1 I R a1, 77 39 B 99 r——
e ¥ Rt & = BT 81 37 B, 37 A T JUTET 10 I faes weadl
1 af St fd o < 80 Faefyeter &, o A w A At A [ m
s i s i) : by

(a) 40 km/h / 40 /==t | |
(b) 50 km/h / 50 /et
(c) 37.5 km/h / 37.5 ferei/=ieT
(d) 36km/h /36 feFHt/=eT

A COMPREHENSIVE

[rSrr—
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